
This radio controlled helicopter is NOT A TOY! It has some 
technical requirements, you must pay attention to the flying 
environment and correct operation. Never fly your radio 
controlled helicopter over people or near crowds. Teenagers 
must fly under the guardian’s guide. Beginners must fly under the 
guardian of experienced pilot.

SAFETY PRECAUTIONS

Thank you for buying Agile products. Please read this 
manual carefully before assembling. We recommend that 
you keep this manual for future reference regarding tuning 
and maintenance.

INSTRUCTION MANUALINSTRUCTION MANUAL
Version No：20160322

Length：1120mm

Height：350mm

Width：176mm

Main Rotor Diameter：Ø1250mm

Main Blade Length：550mm

Tail Rotor Diameter：Ø260mm

Tail Blade Length：92mm

Motor Pinion：21T

Motor KV：1100KV

Driving Gear：(21/54)(17/56)

Gear Ratio：21T(8.89:1)   
Tail Gear Ratio: 3.86:1
Weight(w/o power)：2700g
Flying Weight: 3500g
Battery：22.2V   5000mAh

ESC：120A

Product Specifications

Version No：20160322





















Agile Helicopter is a Trademark of Flight Research Rc Europe , Proudly made by KDS Model Shenzhen

Page 10

13.Assembly Process of Main Rotor Head

Bearing φ8X16X5
KA-72-87

Screw M3X14
KA-55-004

Plastic main rotor holder
KA-55-002

Washer φ12x15.8x0.5
KA-55-002

Linkage Ball M3
KA-55-064

Main rotor branch control arm
KA-55-004

Screw M3X6
KA-55-004

Thrust bearing
KA-55-080

2XScrew M3X14

2XScrew M3X6

REM:Apply Medium Thread lock or Equivalent to all screws. balls,and threasd which are engaged with metal-parts

Washer φ8x12x1.0
KA-55-003

Damper rubber
KA-55-003

Washer φ8.5x13x2.0
KA-55-003

Washer φ5x10x1.8
KA-55-014

Washer φ3x5x0.5
KA-55-005

Screw M3X16
KA-55-005

KA-55-005

Screw M5X12
KA-55-014

Feathering shaft
KA-55-014

2XScrew M5X12

2XScrew M5X12

Thrust Bearing Assembly

Larger ID Smaller ID

Put Some Bearing Grease here





















































Version No：20160322

...�it's time to fly different!!!


